Short Division - ANSWERS

Dividing 4-Digit Numbers by 1 — Digit Numbers

Work through these questions to practise using the bus stop method. Use everything you
have learnt so far to help you to become more confident. The more you practise, the easier
it will become! Don't forget to exchange! These questions will have NO REMAINDERS.

1. 2244 -2 = 1122
2. 2248 - 2= 1124
3. 4488 -4= 1122
4. 3069 + 3= 1023

5. 5055 +5= 1011

Challenge:

11. 6012 + 6 = 1002

12. 1477 + 7 = 211

6.6339 + 3 =

7.1024 + 2 =

8.2048 -4 =

9.2456 + 4 =

10. 1055 + 5 =

2113

512

512

614

211



